CLASS 12

INTEGRALS

METHODS OF INTEGRATION

EXERCISE

Integrate2sin® x +cos? X

(a)%jLsterC (b)3—X—5m2X+C
2 4 2 4

(c)§+8m2X+C (d)3—X—25m2X+C
2 4 4 2

Integrate8 tan® xsec” x
(@)2tan* x+C (b)4cot* x+C
(c)2tan®* x+C (d) tan* x+C

cos® X —sin? x

Find the integral of -
7C0s” XSIN“ X

(a)—%(cotx—tanx)JrC (b)—%(cotx—Ztanx)+C

(c)—%(cotx+tanx)+c (d)—%(Zcotx+3tanx)+C

Find [sin?(8x +5)dx

(a) L sin(16x +10) LC (b) X cos(16x +10) LC
4 32 2 32

(C)5_3|n(16x+10) L (d)§+cos(16x+5) L
2 32 2 32
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Q.5

2
Find ] 2°°5" X gy,

1+sinx

(a) -3(x+cosx)+C
(c) 5(-x+sinx)+C

e “(1-x)

Find the integral of — .
sin’ (xe ™)

(@cotxe™+C
(c) —cotxe* +C

2C0S 2X
Integrate ———.
(cos x—sin x)
(@) —log(1+2sin2x) +C

(© —% log(1+cos2x)+C

Integrate sin®(x + 2)

(@) 3 (sin(x+2)) + icos(?,x +6)+C
4 12

(b) — % (cos(x+2)) - % cos(3x+6)+C

3 1
(c) - 2 (cos(x+2))+ o cos(3x+6)+C

3 1 .
(d) —Z(cos(x+ 2)) +Esm(x+ 2)+C

(b) 5(x+cosx)+C
(d) 5(x-cosx)+C

(b) —cotxe™*+C

(d) —cos*xe * +C

(b)%log(l—sin 2x)+C

(d) —log(Ll—sin2x)+C
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Q9  Integrate2xcos(x* +3).
@sin(x* +3)+C (b)sinz(x2+3)+C
() cot(x* +3)+C (d)—sin(x* +3)+C

Find | 2sin® x +1dx

(a)E—COS3X+X+ (b)—Ecosx+COSBX+x+
2 6 2 6

(c)—Ecosx—Cossx—XJrC (d)—gcosx+COSSX+C
2 6 2 6

ANSWER KEY




